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1. Some form one students wanted to collect thgs%dllowing animals for study in the laboratory. State
the suitable apparatus they should use.@ \Q(b
i) Flying insects @"’Q(b (1 mark)
9
.................................... Q}’*
i) Crawling stinging@ig‘éécts (1 mark)
........................ TR
i) Small animaf?s from tree barks (1 mark)
................ OO OO OO ROOROOOOINS
2 a) Sta(s'@che role of enzyme catalase in living cells (2 mark)
N\
...... B e
((/Q
{-@ .................................................................................................................
2 h) Which factor inactivates enzyme action? (1 mark)
<<&
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\
«° 3. State the transport and synthetic roles of endoplasmic reticulum
1) Transport role (1 mark)
i) Synthetic role (1 mark)
4 a) What is test cross? (1 mark)
b) What are homologous chromosomes? (1 mark)
5 a) What is the significance of diffusion to plant pollination (1 mark)
b) Explain why movement of air molecules is not energy driven process (1 mark)
6 a) Name two products of anaerobic respiration in animals (2 mark)
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b) Define the term respiratory quotientQ Q}g (1 mark)
............................................... e,
2
&
......................................... 6@Q
7. Study the diagram below and %}a}k&verthe questions that follows (1 mark)
R

" Starch grains
\§ g A

Fat lipid droplets
a) Identify the structures labeled A and B (2 mark)
A
B
b) What process takes place in the parts labeled A and B (2 mark)
8 State two distinguishing characteristics of members of division Bryophyta (2 mark)
9. Name the organisms that cause: (2 mark)
) Malaria

10. a) Differentiate between transpiration and guttation (2 mark)
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b) State two conditions that are neg@@fgary for opening of the stomata (2 mark)
.......................................... B e
2)
o
..................................... R e
)
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11.  State two functions of sihooth muscle along alimentary canal in mammals. (2 mark)
>
..................... A\
................ OSSOSO
Q
......... \Q(b'
12. List @x?three modes of expressing food relationship in an ecological system (3 mark)
X e
&
Qe ettt e e e e ea et ea ettt e ettt e et et et ea ettt h ettt eeeaenan
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V13 a) What is eye accommodation? (1 mark)
<
O e,
b) Explain how the iris muscle controls the size of pupil when exposed to bright light.
(2 mark)
14.  The figure below shows part of a mould growing on a cubstrate
%% :
[o]~)
© o 0
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c) State the function of part A%Q,Q (1 mark)
9
.................................... QJ@F
................................ e
15 Explain the effects of Q/i'@ﬁous exercise on
a) Breathing @% (1 mark)
b
............ QT
X
b) QfafPuIse rate (1 mark)
X e,
E
@0 e e e et et e e a et h et e e b e e e b e e e e aes
<& :
e c) Arterioles of a person (1 mark)
S
N
&
16. a) Distinguish between pyramid of numbers and pyramid of biomass (2 mark)
b) Briefly describe how the belt transect can be used in estimating the population of a shrub
in a grassland (2 mark)
17. a) State two advantages which a constant body temperature gives mammals and birds over
the animals (2 mark)
b) How does the body size affects heat loss in an animal (1 mark)
18.  Across between a black bull and a white cow produces a calf which has black and white spots.

a)

State the type of dominance shown.

(1 mark)
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b) Suggest the possible genotypes of t%@}(%lf if the genes for white and black trait are B and

W respectively. é‘Qfo (1 mark)

.......................................... B e
82
..................................... R e
%)
19.  Astudent set up an expe;i&gféht as shown in the diagram below.
s ork
Wet cotton . é\\ / - / —
T
\6 _Cotyledons
N
N\ Q(a. i
fb-% Glass containel
Q/Q Radicli\
‘P@ Marking
2
&
@
Y a) What was the aim of the experiment? (1 mark)
\
QO
b) On the diagram below indicate the expected results after three days. (2 mark)
20.
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b) What happens to structure A and B %s}t%e arm is straightened (1 mark)
............................................... e,
2
(s
......................................... é”Q
21. a) What are the vestigial s@hcétures? (1 mark)
N
........................ T
b) Give two gxﬁmples of the structures above in man. (2 mark)
L
......... \Q(b'
...... B e
((/Q
{-@ .................................................................................................................
22. 2 a) What is seed dormancy? (1 mark)
<<&
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b) Name a growth inhibitor in seeds (1 mark)

C) Differentiate between hypogeal and epigeal germination in seeds (2 mark)

23.  The diagram of the Nucleolus of a liver cell of a rat in an electron micrograph was 8.0 mm.
Calculate the actual diameter of the Nucleolus in micrometers given the magnification was
X16000. (2 mark)

24. Q) Explain why tracheids are not efficient in transporting water up the plant. (1 mark)

b) What is the advantage of xylem vessels being dead? (1 mark)
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An accident victim was found to pass IargeQ@?Limes of dilute urine.
a) What part of the brain was injur@e;d?? (1 mark)
.......................................... B e
2)
o
..................................... R e
)
b) Explain how injirg@f\the part mentioned in 25(a) above brought about release of large
volume of urine: (3 mark)
>
..................... A\
o
......... \Q(b'
...... B e
Q/Q
{-@ .................................................................................................................

e
<
26, The following nucleoticle sequence was AGCCT on a segment of DNA strand.
<

QO

28.

)} Write down the sequence in corresponding segment of DNA strand (2 mark)
i) Find the complementary strand from the original sequence of RNA. (1 mark)
a) Define the term active transport (1 mark)
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